N/ TRAIL TECH

010-ELV-133

Tech Support: (844) 378-8143
technicalservice@apexproductgroup.com

5400-00/5400-10 KICKSTAND INSTALLATION
2004-2005 KAWASAKI KX/KXF 125/250, 2004-2005 SUZUKI RMZ250F,
& 2005 YAMAHA YZF250/450

5400-PK CONTENTS: =

5400-PK Parts Kit

A. M8x16mm Shouldered Bolt (Sub-Frame bolt.)

B. M8 Hex Spacer (Kawasaki & Suzuki installations.)
C. M8x75mm SCHS.

D. Kawasaki Spacer.

E. Yamaha Spacer.

F. M8x15mm BCHS.

KAWASAKI INSTALLATIONS:
@ 2004-2005 KX125/250 (2-Stroke)

E s =5 = = .
p M8x16‘_mm_,8_ub—Frame"—_
BOIH(Fig' 1A)

\“‘ / G
A -

SES Clelia Relllr
Eeli - 16)

2004-2005 KX125/250 (2-Stroke) Kickstand Installed

1. Remove stock chain roller & sub-frame fasteners.

2. Using provided M8x16mm shouldered bolt (Fig. 1A),
mount provided kickstand bracket to sub-frame (Fig. 2)
Note: Use thread locking compound and
manufacterers torque specification during installation.

3. Locate provided Kawasaki spacer (Fig. 1D), &
M8x75mm SCHS (Fig. 1C).

4. Insert spacer between lower mounting point of the
kickstand bracket and the front of the OEM chain roller
(Fig. 2).

5. Insert provided M8x75mm SCHS through kickstand
bracket, Kawasaki spacer, & OEM chain roller.

6. Use OEM nylon locking nut from stock chain roller
fastener, on provided M8x75mm SCHS to complete
lower mounting installation.

Note: Use thread locking compound and
manufacterers torque specification during installation.

@ 2004-2005 KX250F (4-Stroke)

1. Remove stock chain roller nut & sub-frame fastener.
2. Locate provided M8 hex spacer (Fig. 1B), &
M8x15mm BCHS (Fig. 1F).

3. Thread M6 portion of hex spacer onto OEM chain
roller stud.

Note:This stud is the same mouting location as the
stock chain roller lock nut removed in step 1.

4. Line up lower mounting point of kickstand bracket

& install M8x15 BCHS through kickstand monuting
bracket into M8 hex spacer.

Note: Use thread locking compound and
manufacterers torque specification during installation.
The torque value of Trail Tech’s provided M8x15mm
BCHS into M8 hex spacer will be the same as the
upper sub-frame fastener.

5. Using provided M8x16mm shouldered bolt (Fig. 1A),
mount provided kickstand bracket to sub-frame (Fig. 3)

BEHS

Beli ¢e. 1

2004-2005 KX250F (4-Stroke) Kickstand Installed
Continued on other side >>



010-ELV-133

Ei i; m’L MH Tech Support: (844) 378-8143

technicalservice@apexproductgroup.com

5400-00/5400-10 KICKSTAND INSTALLATION
2004-2005 KAWASAKI KX/KXF 125/250, 2004-2005 SUZUKI RMZ250F,
& 2005 YAMAHA YZF250/450

SUZUKI INSTALLATION: YAMAHA INSTALLATION: N
0 2004-2005 RMZ250F (4-Stroke) @ 2005 YZ250F/YZ450F (4-Stroke)

1. Remove stock chain roller nut & sub-frame fastener. 1. Remove stock chain roller & sub-frame fasteners.
2. Locate provided M8 hex spacer (Fig. 1B), & 3. Locate provided Yamaha spacer (Fig. 1E), &
M8x15mm BCHS (Fig. 1F). M8x16mm shouldered bolt (Fig. 1A).

3. Thread M6 portion of hex spacer onto OEM chain 4. Insert spacer between upper mounting point of the
roller stud. kickstand bracket and sub-frame mouting location
Note:This stud is the same mouting location as the (Fig. 5) & install M8x16mm shouldered bolt through
stock chain roller lock nut removed in step 1. kickstand bracket, & Yamaha spacer into sub-frame.
4. Line up lower mounting point of kickstand bracket 5. Insert provided M8x75mm SCHS through kickstand
& install M8x15 BCHS through kickstand monuting bracket, & OEM chain roller.

bracket into M8 hex spacer. 6. Use OEM nylon locking nut from stock chain roller
Note: Use thread locking compound and fastener, on provided M8x75mm SCHS to complete
manufacterers torque specification during installation. lower mounting installation.

The torque value of Trail Tech’s provided M8x15mm Note: Use thread locking compound and

BCHS into M8 hex spacer will be the same as the manufacturers torque specification during installation.

upper sub-frame fastener.
5. Using provided M8x16mm shouldered bolt (Fig. 1A),
mount provided kickstand bracket to sub-frame (Fig. 4)

Yamaha Spacer,

2004-2005 RMZ250F Kickstand Bracket Installed

IMPORTANT: WEAR EYE PROTECTION WHEN HANGING SPRINGS!

Note: After every ride it is important to check your kickstand thoroughly for the following:
* Loose or damaged bolts * Bent or damaged kickstand leg or bracket - Damaged spring
Damaged or broken parts can result in serious injury! If any part of your stand has become
damaged do not ride the machine! Contact a factory trained technician or Trail Tech directly for service or repairs.

LIMITED WARRANTY
TRAIL TECH INC. WARRANTS TRAIL TECH KICKSTAND PRODUCTS TO BE FREE FROM DEFECTS IN MATERIAL AND WORKMANSHIP UNDER NORMAL USE AND IF PROPERLY
INSTALLED FOR A PERIOD OF SIX MONTHS FROM DATE OF PURCHASE. IF FOUND TO BE DEFECTIVE AS MENTIONED ABOVE, IT WILL BE REPLACED OR REPAIRED. THIS SHALL
CONSTITUTE THE SOLE REMEDY OF THE PURCHASER AND THE SOLE LIABILITY OF TRAIL TECH INC. TO THE EXTENT PERMITTED BY LAW, THE FOREGOING IS EXCLUSIVE AND
IN LIEU OF ALL OTHER WARRANTIES OR REPRESENTATIONS WHETHER EXPRESSED OR IMPLIED, INCLUDED ANY LIMITED WARRANTY OF MERCHANTABILITY OR FITNESS. IN
NO EVENT SHALL TRAIL TECH INC. BE LIABLE FOR SPECIAL OR CONSEQUENTIAL DAMAGES.



